114# 5237 2% Python# PV ¥ A#ILHFLL FREEE:

NESRIGE S

LAy pip 114262 30p T4 114&# 72 11 P - Gprss 243 %)
Zfﬁ 2= *:sun& £ 1,000 =~ -
LA REE - HI MK R o
4. %ﬁ%iéﬂt Méﬂ‘ v 240 &0 RAR LER 0 BRI 5 AF o
5. ﬁmﬂﬂé%Fi%iWr’E%?ﬁﬁéﬂﬁ°(%iiﬁ%ﬁ&ﬁi$?%£%ﬁ£)
FI T 2%
% 1 & e f‘f
B e w e
e, | (AP e 2§ 2)
L& Hpw
& v & ¢
ke i

s [hk (R Y

. T s e A H B
g ‘f,* 3 & 2 ea
S %}ku |4 S Ei RS
B g 1,000 % £F AT 2SR 0 IR AP D KA B B -

114 # 53¢ 28 Python# ¥ ¢ R#AFE L R LA
Y PP 14E6 " 30p T EATI4ETY QLR -G

1

2. LPF S ZTHAEEEL 1,000 & -

M LAIEEE  F- WL ARKBARE 2
4

5}

LR R ﬂ‘%%%‘fi » 340 %

.%Eﬁﬁﬁmﬂ%ﬁéiiﬁ

s |2§§]2~"”'§T§. ’ %?/%éﬁ o
c(FEARFIIMAIF L2 REL)

e % 5 o5
Lo WERE R LTE

Yir prEB]

=4 & N A4 2L
5&’]4‘?? .éEl:.)

P/

31
EA

5L

LEapa

3
53
|9

=L
e

(R H 2772 & 5)

s 4k R

. T
g1

B

%r}tb

T ¥

fig s 1,000 % 0 $F AR R ALY IR AP E AR e R -



